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7	 Vocabulary consolidation

Rooms and furniture

1	 Complete the words with vowels.

	 d e  s k 1	 c   p b     r d

2	 s   f  3	 t   b l  

4	 b   d 5	 l   m p

6	 m   r r   r 7	 c h     r

8	   r m c h     r 9	 w   r d r   b  

 10	 c     k   r  11	 t     l   t

2	 Tick (✓) or cross (✗) the furniture for each room.

	 kitchen	 cupboard	 ✓ 	 wardrobe	 ✗

1	 bedroom	 mirror	  	 lamp	  
2	 living room	 bed	  	 sofa	  
3	 bathroom	 cooker	  	 toilet	  
4	 dining room	 table	  	 chair	  

Household objects

3	 Find ten household objects in the wordsquare.

T O M I C R O W A V E

O R E M L A P T O P W

O E O T A O M A I U A

T M 3 E M N B E A B S

P O Y E P E T A R E H

R T A R 3 A O U T A I

T E L E P H O N E H N

U C I C L R T E M O G

P O L U A E H O P 3 M

L N K A Y F B T L A A

S T A R E D R I A Y C

H R G A R N U I N E H

K O L W E C S P D 3 I

L L P 3 Y E H E L G N

D I S H W A S H E R E
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7	 Grammar consolidation

be past simple: affirmative and 
negative

1	 Rewrite the sentences so they are true.

	 King Louis XIV wasn’t French. 
	 King Louis XIV was French.
1	 Shakespeare was Canadian.
	  
2	 Gaudi and Goya were British.
	  
3	 Michelangelo wasn’t Italian.
	  
4	 Abraham Lincoln was Belgian.
	  
5	 Marie and Pierre Curie weren’t Polish.
	  

be past simple: questions and short 
answers

2	 Circle the correct words. Then complete the short 
answers.

	 Were / Was they French?
	 Yes, they were  .
1	 Was / Were he a writer?
	 Yes,   .
2	 Was / Were they in the dining room?
	 No,   .
3	 Were / Was they happy?
	 Yes,   .
4	 Were / Was I at home?
	 No,   .

there was / there were: affirmative 
and negative

3	 Circle the correct forms.

In Medieval England, life was very different.  
(1)There wasn’t / There weren’t any cars and  
(2)there wasn’t / there weren’t any supermarkets but  
(3)there were / there was lots of trees and forests.  
(4)There weren’t / there wasn’t any heating. It was 
often very cold. (5)There was / There were a king and 
(6)there was / there were lots of big castles.

there was / there were: questions and 
short answers

4	 Complete the questions about exercise 3. Then 
write short answers.

	 Were  there any castles in Medieval 
England? 

Yes, there were.
1	   there any supermarkets?

 
2	   there any heating?

 
3	   there lots of trees?

 
4	   there a king?

 
5	   there any cars?
	  

Past simple affirmative: regular 
verbs

5	 Complete the puzzle with the past simple form of 
the verbs in the box. Then write the mystery verb.

call ​ invent ​ like ​ produce ​ stop ​
try ​ use ​ weigh

1
C A L L E D

2 
T

3 
U

4 
L

 

5
W

6 
I

7
S

8
P

Mystery verb:  

All Clear TRF1 SEC_B Vocab & Grammar.indd   79 10/11/2015   11:27


